NTERADHB(HEBERFH
6F—rh¥RER—-5A -2 AE A
K4
1) ROFRELGESL, (4R X58=20)

1) 7-2.6-3.08

2) (3.1-1.62)x8.6

3) 24.024+5.6+3.9

4) (4.68+5.2+3.4)x8.7

5) 29.82+(11—-3.9)—0.43x%5.8



NTERADHB(HEBERFH
6F—rhERER—58 —2:8— NBE A
K4
2) ROFEZELLEEL, (4RX5E=201)

1) 8.7x%x3.9%2.4

2) 3.42+5.7x3.8

3) 8.1+(9.2-5.83)

4) 0.5x%(7.7x0.62—3. 764)

5) (10.1-1.9)x(108. 2—94. 97)+2. 1



NTERADHB(HEBERFH
64— P RER—58 —2:8— KIE A
K4
3) ROEHEZELGED, (ARX58E=20R)

1) 4.9%(8.84+5.2)

2) 1.3x%x8.02+0.574

3) 9—4.52+11.6

4) 9.1%1.03+8.7+0.6

5) (12.54—-0.7x5.4)+7.3-0.97



NTERADHB(HEBERFH
64— P RER—58 —2:8—KIE A
K4
4) ROFEZELLGEL, (4RX5E=201)

1) 6.84+(1.32+1.1)

2) 3.4%(2.8%x1.7)

3) 51.6—(12.6—9.78)

4) (5.1—3.46)%8.7—12. 382

5) {(31.4+13.7)%x7.3—77.29}+74.1



NTERADHB(HEBERFH
6F—rhERER—58 —2:8—&E A
K4
5) ROFEZELLEL, (4RX5E=201)

1) 12.44-8.9-1.57

2) 13.6%(2.44+3.58)

3) (11-1.37)+2.14

4) 2.1x(151.6—146.8)+2.8

5) (6.1-5.73)%{(9. 1—-3. 64)+4. 2}



NTERADHB(HEBERFH
65— PRER—-5A—24

1) ARE—@E (45 X58) R =

1) 1.32  2) 12.728 3) 1.1 4) 37. 41 5) 1.706
2) KIE—MRE (4R x5H) R =

1) 81.432 2) 2.28 3) 11.47 4) 0.505 5) 51.66
3) KiEg—EE (4R x5%8) R =

1) 8.33 2) 11 3) 16.08 4) 23.873 5) 0.23
4) KIE—RRE (4R x5H) R =

1) 6.7 2) 16.184 3) 48.78 4) 1.886 5) 3.4
5) RE—ME (AR xX58) R =

1) 1.97 2) 81.872 3) 4.5 4) 3.6 5) 0.481



